Trigonometrikus és hiperbolikus fiiggvények

(cost, sint) kor

Osszefiiggések:
eia+e—ia . eia_e—ia
cosa = , Sinx = :
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e'® = cos a + i sin a (Euler-képlet)

Azonossagok:

cos?a + sin‘a =1

Osszegzési képletek:
cos(a + ) = cosacosB + sinasin

sin(a + ) = sina cosf + cosasinf

Kétszeres szogek:
cos(2a) = cos? a — sin?a = 2cos? a — 1

sin(2a) = 2 sina cos a

Félszogek:

, 1+cosa
COS“ = = ————
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(ch t, sht) hiperbola jobb oldali
félgorbéje
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e* =chx +shx

ch?x —sh?x =1

ch(x +y) =chxchy+shxshy

sh(x + y) =shxchy+chxshy

ch(2x) = ch?x + sh?x = 2ch?x — 1
sh(2x) = 2shxchx
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